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21 Listening S2 Answers and Scripts

HATL2

BHALWVW2 T IFLCHIE LOBbAZE EVWT KEEW.ZThhS Bl EFVWTUBA
FWESLD 1H854D GHHL.VLBEIFA WO &DE UVED Z5AT KfEdLy,

Mondai ni
Mondai ni dewa, hajime ni shitsumon o kiite kudasai. Sore kara hanashi o kiite, mondai yoshi no ichi kara
yon no naka kara, ichi-ban ii mono o hitotsu erande kudasai.

Question 2
For Question 2, first listen to the question. Then, listen to the conversation, from 1 through 4 on the
answer sheet, choose the one best answer please.
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SCRIPT
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B 2T A RETTH,

% :16A kFF, 2= WY FTh

Foldn, —AI 2#Fo wUFT, b 6#E R LEL
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3w, aE—% L,

ZTDOAIL IR aE—% LI,

ROMAJI

Kaisha de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa nan-mai kopii o shimasu ka.

Otoko: Kaigi e wa nan-nin kimasu ka.

Onna: Roku-nin kimasu. Kopii ga irimasu ka.

Otoko: Hai, hitori ni ni-mai zutsu irimasu. Mo roku-mai wa watashi ga shimashita.
Onna: So desu ka. Anata mo kopii ga irimasu yo.

Otoko: So desu ka. Ja, mo yon-mai kopii o shite kudasai.

Onna: Hai. Kopii o shimasu.

Onna no hito wa nan-mai kopii o shimasu ka.
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ENGLISH

A man and a woman are talking at work. How many copies is the woman going to make?
Man: How many people are coming to the meeting?

Woman: 6 people are coming. Do (we) need copies?

Man: Yes, (we) need two copies for each person. (I) made 6 copies already.

Woman: I see. You also need a copy.

Man: I see. Well, make 4 more copies please.

Woman: Okay, (I)’'ll make copies.

How many copies is the woman going to make?

The correct answer is #1-10 (>,

The listening section will probably include at least one ‘math’ question where you will have to do
some math based on the information you are given in order to get the correct answer. Here, the
woman says 6 people are coming and the man says they need two copies per person, but he has
already made 6. So, that means we need 6 copies so far:

6 people x 2 copies each — 6 copies already made = 6 copies we need to make

Then, the woman asks if the man needs copies. Was the man included in the original number of 6
people coming to the party? We don’t really know actually, but he confirms the additional number
of copies by saying they need 4 more ( £ , mo) copies:

6 copies needed before + 4 more = 10 copies in total

1 10 £ 2 12 Fun 314 Fn 4 16 £\
ju-mai juni-mai juyon-mai juroku-mai
10 sheets 12 sheets 14 sheets 16 sheets

(2]

SCRIPT

FOAY ZHDOAD TELTWIET, XOAIT T2 KLE T,
Fia—t—% fFUET, REILEAD,

*)—A, I—E=D HIFY FILP2RNTT,

B UVa—An» BEIX ¥YITTI

%L ALEWTT,

B Z2IHITHENR, 4256 BIrWBEZE FU T,

4 wnWi, AKERTT, ABENMGD BET ktiT,

TOAX A% REZTD
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa nani o nomimasu ka.

Otoko: Kohii o tsukurimasu. Nomimasen ka.

Onna: Un, kohii ga amari suki ja nai desu.

Otoko: Juasu ka ocha wa do desu ka.

Onna: Tsumetai desu ka.

Otoko: SO desu ne, ima kara atatakai ocha o tsukurimasu.

Onna: lie, daijobu desu. Reizoko kara no ocha de daijobu desu.

Onna no hito wa nani o nomimasu ka.

ENGLISH
A man and a woman are talking. What is the woman going to drink?

Man: (I) am going to make coffee. Do you want to drink (some)?
Woman: Mmm, (I) don't really like coffee.

Man: How about juice or tea?

Woman: Cold (drinks)?

Man: That'’s right. (I) will make some hot tea now.

Woman: No, that’s okay. Tea from the refrigerator is okay.

What is the woman going to drink?

The correct answer is #2- 2&Tz\y HHE» .

The woman politely crosses off each of the items on the list until we get to her final sentence:

NWZIIN6D BT EWLLISTT,
Reizoko kara no ocha de daijobu desu.
The tea from the refrigerator is okay.

What temperature is the tea from the refrigerator? Cool.

So, the answer is 2, 2B\  BH .

1 a—kb— 2 DD BbHe
kohii tsumetai ocha
coffee cold tea

3 Va—R& 4 ZLDOAN D=7 Bbe
jasu onna no hito ga tsukutta ocha
juice tea made by the woman
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SCRIPT

BOAY ZHOAN TELTWET, BOAIZ ¥ZT 135L% BWELED
D DLEF TR,

HUDNKE I,

P TR=FTEWE LD,

DL, BFRT Avili

D HERD I HBETTI,

P EWET, ARLE ®mREO R bBETT.

bbb, @n->7=TL LI,

Wz, AFY BT T L,

E % E % 8N E

BOAIX ¥2T 13H5L% BWFEFLED

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa doko de boshi o kaimashita ka.
Onna: li boshi desu ne.

Otoko: Arigato.

Onna: Depato de kaimashita ka.

Otoko: lie, boshiya de kaimashita.

Onna: Yubinkyoku no tonari ni aru mise desu ka.

Otoko: Chigaimasu. Hon'ya to byoin no aida ni aru mise desu.

Onna: A, takakatta deshé.

Otoko: lie, amari takaku nakatta desu yo.

Otoko no hito wa doko de boshi o kaimashita ka.

ENGLISH

A man and a woman are talking. Where did the man buy the hat?

Woman: Nice hat.

Man: Thanks.

Woman: Did you buy it at a department store?

Man: No, (I) bought it at a hat store.

Woman: The store next to the post office?

Man: No. The store between the bookstore and the hospital.
Woman: Ah, (it) was expensive, right?

Man: No, (it) wasn't so expensive.

Where did the man buy the hat?

The correct answer is #1.

Looking at the pictures, you can easily come up with some keywords to listen for (X9 LX> (boshiya,
hat shop), 773—} (depato, department store), |ZA X> (hon'ya, bookstore), Ut 9 A (bydin,
hospital), ¥ 9 U'A % 1 { (yuabinkyoku, post office) and 7+ 7)1 (hoteru, hotel).
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Also, whenever the question asks about where, the speakers might use location words (lesson 6, page
120). Before the question starts, try to think of how you would describe where these buildings are,

so that you are primed to listen for locations.
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HT BOAYL LDOAN #HELTHET, XOAIL, 5B {8k FXF L,

D SBIE, BWTEh, B¥ B(EXILEDN

D S5BIE KYIR 2EN HUETHL, broYR(RILE

23T, woBld 8BES5 T kI,

DIV, wWol 8ERT XIS, SHIE 68¥IC EEIFLA
DEWBWANATT, 22T TEENS WwWIE L,

AT BET a—kb—% EBEoT T4 5T £53Fl7 4l BROTT L,

TDOAIX, 5B IR FX I LD,

ROMAJI

Kaisha de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa, kyo nan-ji ni tsukimashita ka.

Otoko: Kyo wa, hayai desu ne. Naze hayaku tsukimashita ka.

Onna: Kyo wa taisetsu na kaigi ga arimasu kara, chotto hayaku kimashita.

Otoko: So desu ka. Itsu mo wa hachi-ji gojugo-fun ni kimasu ne.

Onna: Hai, itsu mo hachi-ji ni okimasu ga, kyo wa roku-ji-han ni okimashita.

Otoko: Taihen desu ne. Koko ni nana-ji-han kara imashita ka.

Onna: Hajime ni omise de kohii o katte shichi-ji yonjiigo-fun ni tsukimashita. Ima wa nemui desu yo.

Onna no hito wa, kyo nan-ji ni tsukimashita ka.
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ENGLISH

A man and a woman are talking at work. When did the woman arrive today?

Man: Early today, aren’t you? Why did (you) arrive early?

Woman: There is an important meeting today, so (I) arrived a little early.

Man: Is that right? (You) usually come at 8:55 right?

Woman: Yes, (I) usually wake up at 8, but today (I) woke up at 6:30.

Man: That’s terrible. (You) were here from 7:30?

Woman: First, (I) bought coffee at the store and arrived at 7:45. (I) am sleepy now.

When did the woman arrive today?

The correct answer is #2- 7 : 45,

Listen carefully to the question they ask you:

HDOAIE, 5B AR AXELED,
Onna no hito wa, kyo nan-ji ni tsukimashita ka.
When did the woman arrive?

So, arrived (%% L /=, tsukimashita) is the keyword to listen for. In a question like this, the test-
makers will usually try to trick you by giving you different times for different activities that one of
the speakers did. By listening for what was asked, it should help you keep your focus and answer
these questions easily.

1 7:30 2 7:45 38:00 4 8:55

5]
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Itsu eiga o mi ni ikimasu ka.

Otoko: Ashita no yoru, issho ni eiga o mi ni ikimasen ka.

Onna: Sumimasen. Ashita wa chotto....

Otoko: Shigoto desu ka.

Onna: lie, asatte no gogo okasan ga watashi no ie ni kimasu kara, ashita wa ie o soji shimasu.

Otoko: Kyo no yoru mi ni ikimasen ka.

Onna: Kon-ban wa ne, tomodachi to issho ni yugohan o tabemasu. Ja, gozen ni eiga o mite gogo ni ie o
soji shimasu.

Itsu eiga o mi ni ikimasu ka.

ENGLISH

A man and a woman are talking. When are they going to see the movie?

Man: Tomorrow night, why don’t (we) watch a movie together?

Woman: Sorry. Tomorrow is a little ...

Man: Is (it) work?

Woman: No, my mom is coming to my house in the afternoon of the day after tomorrow, so (I) am
cleaning my house tomorrow.

Man: Why don’t (we) see (a movie) tonight?

Woman: Tonight? (I) am eating dinner with my friend. Well, in the morning we will watch the
movie and in the afternoon (I) will clean the house.

When are they going to see the movie?

The correct answer is #2-&H LTcdD €A .

Keep the question they are asking about in mind while you are listening. During questions like
these, the speakers will most likely mention other events several times or they might propose times
that are rejected. Don’t commit to an answer until the whole conversation has completed.

In the conversation above, the woman doesn’t explicitly say that she is talking about tomorrow, but
you can guess it from the context of the conversation.

1T 5BD S5 2 LD TEA
kyo no yoru ashita no gozen
tonight tomorrow morning
3 LD L5 4 HX-5THTT
ashita no yoru asatte no gogo
tomorrow night in the afternoon of the day after tomorrow
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SCRIPT

BOAY HDOAN #ELTHET, BOAIZ KaWr AR BuET,

D X—=T 4 —I3 AN S T,

6L TY., AT ) BuwFLED

Wz, FETY, IR W FT,

5—/4, KliE BATYF, 2—k—¢ BFE 10 AFoTF,

D= T 41T RBAX T—b—% HIFIY RHEIEA.

ZITETH, Ledb.a—k—ld DARIZ LEILli). 2L 5% 910K o5
TLES,

Fldv, a0 F L

FOAIL KEPE AR BnI I,

RIS o P

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Otoko no hito wa nomimono o nanbon kaimasu ka.

Otoko: Patii wa nan-ji kara desu ka.

Onna: Roku-ji kara desu. Nomimono wa mo kaimashita ka.

Otoko: lie, mada desu. Nanbon irimasu ka.

Onna: Un, mizu wa gohon desu. Kohii to ocha wa juppon zutsu desu.

Otoko: Pati ni kuru hito wa kohii o amari nomimasen.

Onna: So6 desu ka. Ja, kohii wa gohon ni shimasho. Soshite, ocha 0 m6 juppon katte kudasai.
Otoko: Hai, wakarimashita.

Otoko no hito wa nomimono o nanbon kaimasu ka.

ENGLISH

A man and a woman are talking. How many drinks is the man going to buy?

Man: From what time is the party?
Woman: From 6:00. Did (you) buy the drinks?
Man: No, not yet. How many drinks do (we) need?

Woman: Mmm, 5 bottles of water, 10 each of tea and coffee.

Man: The people coming to the party don’t drink coffee so much.

Woman: Is that right? Well, let’s make it 5 cans of coffee. And, buy 10 more bottles of tea please.
Man: OkKkay, (I) see.

How many drinks is the man going to buy?

The correct answer is #4-30 (A .

The woman first mentions that we need 5 bottles of water and then 10 bottles each of tea and coffee:

5 bottles of water + 10 cans of coffee + 10 bottles of tea = 25 bottles

But, then, she says people coming to the party don’t like coffee so much, so she wants 5 cans of
coffee and 10 more bottles of tea.

S bottles of water + 5 cans of coffee + 10 bottles originally + 10 more bottles of tea = 30 bottles

471



472

Listening Listening S2 Answers and Scripts

Listen out for keywords like # 9 that signal you are adding more items.

1 15134 2 20 1XA 3 25134 4 30 1XA
jago-hon nijuppon nijigo-hon sanjuppon
15 bottles 20 bottles 25 bottles 30 bottles

SCRIPT
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ROMAJI

Byoin de otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa bangohan no ato de dono
kusuri o nomimasu ka.

Otoko: Kono chiisakute akai no wa asagohan-go, hirugohan-go, bangohan-go nonde kudasai.

Onna: Hai, wakarimashita.

Otoko: Kono okikute kiiroi no wa bangohan-go dake ni nonde kudasai.

Onna: Hai, kono okikute shiroi no wa itsu desu ka.

Otoko: Itai toki ni nonde kudasai. Kore o nomu mae ni nani ka o tabete kudasai.

Onna: Hai, arigatd gozaimasu.

Onna no hito wa bangohan no ato de dono kusuri o nomimasu ka.

ENGLISH

A man and a woman are talking at a hospital. Which medicine is the woman going to take after dinner?
Man: Take this small red one, after breakfast, after lunch, and after dinner please.

Woman: Okay, (I) see.

Man: Take this big yellow one only after dinner please.

Woman: Okay, when (do I take) this big white one?

Man: When (it) hurts, take (it) please. Before (you) take this, please eat something.

Woman: Okay, thank you.

Which medicine is the woman going to take after dinner?

The correct answer is #3.

The question asks specifically what kind of medicine the woman needs to take after dinner. If you
listen for that keyword XA Z1Z A (bangohan, dinner), you can answer this question pretty easily.



It is quite common for the test-makers to add extra information in order to mislead or confuse you,

Listening Listening S2 Answers and Scripts

but if you listen carefully to the initial question, you should have no problems.
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ROMAJI

Sensei to otoko no gakusei ga hanashite imasu. Otoko no gakusei wa, doshite osoku narimashita ka.

Onna:
Otoko:

Onna:
Otoko:
Onna:
Otoko:
Onna:

Osoku narimashita ne. Okiru no ga osokatta desu ka.

lie, chigaimasu. Imoto ga watashi no jitensha o tsukaimashita kara, watashi wa eki made
arukimashita.

Taihen. Sore de, osoku narimashita ka.

lie, eki ni wa mondai naku tsukimashita. Demo, okane ga arimasen deshita.

Okane ga, doshite?

Saifu o wasuremashita kara saifu o tori ni ie ni kaerimashita.

A, s6 nan desu ne.

Otoko no gakusei wa, doshite osoku narimashita ka.
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ENGLISH
A teacher and a male student are talking. Why was the male student late?

Woman: (You) arrived late. Did (you) wake up late?

Man: No, that’s wrong. My younger sister used my bicycle, so I walked to the station.
Woman: Terrible. That’s why you were late?

Man: No, (I) arrived at the station with no trouble. But, (I) didn’t have money.
Woman: Why (did you not have) money?

Man: (I) forgot my wallet, so (I) returned home to get my wallet.

Woman: Ah, I see.

Why was the male student late?

The correct answer is #2.

The teacher assumes the male student woke up late, and that is why he is late for school. But, he tells
her that’s not true, and goes on to tell her why he was really late — he forgot his wallet at home.

2

v

9

SCRIPT

TLET, ®OAD ELTWET, RRD, HDO FHEO RAld, ¥ T,

% 45BN I T 3BXIAHAN HVWTLILI, ME WE ANIE —BPFHRI3-5
T BN 3BuTLlLrIr. RFWE #|I Bh3TLrId. Lrl, EFNL BLL-T
EHN 35 TLLI), kifpsEY FIT TH 35r2r8H »HUIT,

BEIE $2L B A->T REA2S KKRFEFT W2 33TLLI.

FFED, SHDO FHO KA. ¥ITTEI,

474



Listening Listening S2 Answers and Scripts

ROMAJI

Terebi de, onna no hito ga hanashite imasu. Tokyo no, kyoé no gogo no tenki wa, do desu ka.

Onna: Kyo no asa wa yuki ga furu tokoro ga 6i desho. Kansai, shikoku, Kyisha wa ichi-nichi-ja ame ga
futte kaze ga tsuyoi desho. Tokyo wa asa wa hareru desho. Shikashi, shégo kara samuku natte yuki
ga furu deshé. Hokkaido to Tohoku de yuki ga furu tokoro mo arimasu. Ashita wa sukoshi
atatakaku natte Tokyo kara Osaka made ame ga furu deshaé.

Tokyo no, kyo no gogo no tenki wa, do desu ka.

ENGLISH
A woman is talking on TV. How is Tokyo’s weather this afternoon?

Woman: This morning there will probably be a lot of places where it snows. (It) will probably be
rain and strong winds in Kansai, Shikoku, and Kyushu. (It) will be sunny in the morning
in Tokyo. However, from noon (it) will get colder and probably snow. There will also be
places in Hokkaido and Tohoku where snow will fall. Tomorrow, it will probably be a little
warmer and it will rain from Tokyo to Osaka.

How is Tokyo’s weather this afternoon?

The correct answer is #1-BEH 5135

The weather forecaster starts off by talking about today’s weather around Japan, and talks about the
weather being sunny in the morning. However, from noon (i.e. the afternoon) the weather will get
colder and it will snow. Listen for all the details and understand that the test-makers might use a
variety of words to refer to the same time period.

1T WED 35 2 DN 35
yuki ga furu ame ga furu
snow falls. rain falls.

3 dns 4 »EHN OLun
hareru kaze ga tsuyoi
sunny. strong wind.

SCRIPT
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa, Shinjuku eki made nanpun de

ikimasu ka.

Onna: Koko kara Shinjuku eki made, nanpun kakarimasu ka.

Otoko: So desu ne. Chikatetsu no Sakura eki made aruite jugo-fun desu. Soko kara, chikatetsu de go-fun
desu.

Onna: Shinjuku eki made aruite dore gurai kakarimasu ka.

Otoko: Arukimasu ka? Nijigo-fun gurai desu ne. Takushii de wa tabun juppun kakarimasu.

Onna: li desu ne. Mijikai jikan de tsukimasu kara sore ni shimasu.

Onna no hito wa, Shinjuku eki made nan-bun de ikimasu ka.

ENGLISH

A man and a woman are talking. How many minutes will it take to go to Shinjuku station?

Woman: From here, to Shinjuku station, how many minutes does it take?

Man: Well, (it) is 15 minutes to Sakura station by foot. From there, (it) is 5 minutes by subway.

Woman: How long does (it) take to get to Shinjuku station by foot?

Man: (You) are going to walk (there)? Around 25 minutes, right? By taxi, (it) probably takes 10
minutes.

Woman: That’s good isn't it? (I) am going to arrive in a short time, so (I) will do that.

How many minutes will it take to go to Shinjuku station?

The correct answer is #2- 10 SA .

The last topic the man talks about is going by taxi, so * 41’ in the woman’s last line refers to
that. She uses ‘ IZ L ¥ ’ which is a way to show you have chosen something. You can use this in
restaurants to order for example:

bl #HL—IT LET,

Watashi wa karé ni shimasu.
I'll have the curry.

Since it takes 10 minutes to get to the station by taxi, that gives us the answer of 10 minutes.

1 534 2 10 A 3 20 3SA 4 25 A
go-fun juppun nijuppun nijigo-fun
5 minutes 10 minutes 20 minutes 25 minutes

il
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FiEgnld 25V TT L
ZLDOAIX BRHRIZ %2 LI T,

ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa natsu yasumi ni nani o shimasu ka.

Otoko: Natsu yasumi wa mo sugu desu ne.

Onna: Hai, jugyo ga arimasen kara totemo tsumaranai desu ne.

Otoko: Tsumaranai desu ka. Ureshii desho. Watashi wa umi ni ikimasu.

Onna: Umi wa tsumaranai desu yo.

Otoko: Ja, gaikoku ni ikitai desu ka.

Onna: Hai, demo okane ga nai desu kara, aki kara no jugyo no benkyo o shimasu.
Otoko: Sore wa tsumaranai desu yo.

Onna no hito wa natsu yasumi ni nani o shimasu ka.

ENGLISH
A man and a woman are talking. What is the woman going to do this summer vacation?

Man: Summer vacation is soon, isn’t it?

Woman: Yeah, there is no class, so (it) is totally boring, isn’t it?

Man: (It) is boring? (It) should be happy. I am going to the beach.

Woman: The beach is boring.

Man: Well, do (you) want to go abroad?

Woman: Yes, but (I) don’t have money, so (I) am going to study for classes that start in fall.
Man: That is boring.

What is the woman going to do this summer vacation?

The correct answer is #1-NAE L5953 .

Even though both speakers talk about their plans, the question specifically asks what the woman
plans to do for the summer vacation. Although she wants to go abroad, she doesn’t have the money
so she is staying here and studying.

Be careful not to read more into the conversation than what is there. There are a lot of people that
would rather go on vacation during summer break, but the woman chooses a less common answer.
The test-makers love to throw tricks like this in.

T NAZEITS 2 P TLT Wl
benkyo suru gaikoku ni iku
study go to a foreign country
3 9A&IT WK 4 LwZEx)% I35
umi ni iku jugyo o ukeru
8o to the beach take class
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SCRIPT

BOAY ZOAD, RO #Ez2 ALrS ZFLTWET, FOAD EI)LEEUE, ¥NTT .
B EWLEED ILWTT,

# EOWOTT A,

B0 450 KT v D HEDIE ¥ITEN,

% BHTTR, Th, AL 420 K7y by wh i+,

Bbd EIAL whidi,

# Fhz Bvoanlx tHILLI L

B )TN,

FOAN EIEEE, YRTTD,

ROMAJI

Otoko no hito to onna no hito ga, fuku no zasshi o minagara hanashite imasu. Otoko no hito ga kau
uwagi wa, dore desu ka.

Otoko: Kuroi uwagi ga hoshii desu.

Onna: Kuroi no desu ka.

Otoko: Kono yottsu no poketto ga aru no wa do desu ka.

Onna: Benri desu ne. Demo, honto ni yottsu no poketto ga irimasu ka.

Otoko: A, tabun irimasen.

Onna: Sore ni kuroi no wa yamemasho yo.

Otoko: SO desu ne.

Otoko no hito ga kau uwagi wa, dore desu ka.

ENGLISH

A man and a woman are talking while looking at a clothing magazine. Which jacket is the man
going to buy?

Man: (I) want the black jacket.

Woman: The black one?

Man: How about this one with 4 pockets?

Woman: (It) is convenient, isn’t it? But, do (you) really need 4 pockets?

Man: Ah, probably (I) don’t need (them).

Woman: Moreover, let’s not get the black one.

Man: All right.

Which jacket is the man going to buy?

The correct answer is #4.

Looking at the picture we can guess that we are talking about shirts with 2 or 4 pockets, and white
or black shirts. First, the man decides he actually doesn’t need 4 pockets:

HH, 2354 WVWIEEA,

A, tabun irimasen.
Ah, (1) probably don’t need (them).
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And then later she suggests that the man not buy the black one. Although he doesn’t mention the
white shirt specifically, he agrees with her, which makes 4 the best answer.

13

SCRIPT

BEDUYIAL HOADN ZLTHET, WO FATIE FATT 2,

D TAERA. SCHRKRIE XTI TTA,

S omRER EBETIT b h 9

A5 bELIE RN WE TN,

22l 1TLErtd,

XHMmBIE X39TOXY iz Y ETH,

T bhbiolEST, WRE RIEdTH, bH, 2—24—4TFh, HIEHADO ZITIT b
VET,

% 2—20—44TH 0,

Biwnwzg, 2—24—-47T%,

NN IR

AR D AEFTIE AT TE D

ROMAJI

Omawari-san to onna no hito ga hanashite imasu. By6in no jisho wa nan desu ka.

Onna: Sumimasen, Sakura byoin wa doko desu ka.

Otoko: Sakura byoin wa Haru-machi ni arimasu.

Onna: Ima watashi wa nani-machi ni imasu ka.

Otoko: Koko wa Nishi-machi desu.

Onna: Sakura byoin wa Haru-machi no doko ni arimasu ka.

Otoko: Chotto matte, chizu o mimasu ne. A, ni no nijiayon no yon desu ne. Yabinkyoku no soba ni arimasu.
Onna: Ni no niji no yonjiyon desu ka.

Otoko: lie, ni no nijiyon no yon desu.

Byoin no jusho wa nan desu ka.
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ENGLISH

A police officer and a woman are talking. What is the hospital’s address?

Woman: Sorry, where is the Sakura Hospital?

Man: Sakura Hospital is in Haru-machi.

Woman: Now, what town am I in?

Man: This is Nishi-machi.

Woman: Where in Haru-machi is Sakura Hospital?

Man: Wait a little, (I) am going to look at a map. Ah, (it) is 2-24-4. (It) is close to the post office.
Woman: Is (it) 2-20-44?

Man: No, (it) is 2-24-4.

What is the hospital’s address?

The correct answer is #2- [$2%F5 2 — 24 — 4.

First, the police officer tells the woman that the hospital is in (3% %% . So answers 1 and 4 are
incorrect. Then you just have to listen for the number. And the police officer says the address is
2-24-4, so it must be answer 2.

The NS listening section might involve listening for numbers. When saying a number with dashes,
we say @ for the dashes:

2-40

ni no yonju

1icLxb2—-24—-4 2 352 —-24—-4
Nishi-machi ni no nijiiyon no yon Haru-machi ni no nijiiyon no yon
Nishi-machi 2-24-4 Haru-machi 2-24-4

313562 —20—44 4 12LEb2—20—44
Haru-machi ni no niji no yonjiyon Nishi-machi ni no niju no yonjayon
Haru-machi 2-20-44 Nishi-machi 2-20-44

SCRIPT

BOAYL HDOADN :THELTWET, XOAIX H#L —HIT FATHITI,
TVWBREETTR, HUED ARY E L,

DLW, AT OREEN THFTT L, AT EFTTH

TVAVZ, TE HUNLITTNIT, BEIALY —HEIT FATHITD,
Pwvwng, ke fFATOIT L, BNIZ AR 2T LA,

bH, A TWET, Lred, #N ZoB#%%2 1EYFELED.

Y0 BIEIAN AEY F L

D RETED,

LDOAIT H#Y —HEZ FATHETD,

E O X 8y
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ROMAJI

Otoko no hito to onna no hito ga hanashite imasu. Onna no hito wa dare to issho ni sunde imasu ka.
Otoko: li obento desu ne. Anata ga tsukurimashita ka.

Onna: lie, watashi wa ryori ga heta desu yo. Anata wa jozu desu ne.

Otoko: le ie, demo arigatdo gozaimasu. Okasan to issho ni sunde imasu ka.

Onna: lie, imoto to sunde imasu yo. Mae ni anata ni aimashita.

Otoko: A, oboete imasu. Ja, dare ga sono obento o tsukurimashita ka.

Onna: Tonari no obasan ga tsukurimashita.

Otoko: Honto desu ka.

Onna no hito wa dare to issho ni sunde imasu ka.

ENGLISH

A man and a woman are talking. Who does the woman live with?
Man: Nice bento! Did you make (it)?

Woman: No, my cooking is poor. You cook well.

Man: No, no, but thank you. Do (you) live with your mother?
Woman: No, (I) live with my younger sister. She met you before.
Man: Ah, (I) remember. Well, who made that bento?

Woman: The older woman next door made (it).
Man: Really?

Who does the woman live with?

The correct answer is #3- W5 & .

The question asks specifically who the woman lives with. The conversation is mostly about the
woman’s bento, but that isn’t important for the question. We want to know who the woman lives
with, which she tells us in the middle of the conversation.

1T BIIA 2 B0HIA 3 WEHE 4 BRAIA
obasan okasan imoto onésan
aunt mother younger sister older sister
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ZTDANE FBOAD @ELTWIE, LDOAL, RRIC AT T3X90,

ERLIE BRRIC TS5 FE 0,

DIV, £ TY, wob J/Y I,

DRT ATEETD,

WWZ, RBld BE HFY FuFEAsSs SHE NAT wEid,

PEBEIT OFVEHAD, WOE RRIC FBET T34 L, BLTEATINS,
ZIH)THH, THRIE BEDY HUITEAN»SL BEX RITRLYIET FUFEVEIEA,

ZDOAIL, RFEIT AT T2L9D,

¥ ¥ 8 ¥
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ROMAJI

Onna no hito to otoko no hito ga hanashite imasu. Onna no hito wa, Tokyo ni nan de ikimasu ka.

Otoko: Natsu yasumi wa Tokyo ni ikimasu ka.

Onna: Hai, so desu. Itsumo kaerimasu.

Otoko: Kuruma de ikimasu ka.

Onna: lie, watashi wa kuruma o amari tsukaimasen kara kon-kai wa basu de ikimasu.

Otoko: Densha wa norimasen ka. Itsumo Tokyo ni densha de ikimasu yo. Hayakute benri desu kara.

Onna: So6 desu ne. Demo, watashi wa okane ga arimasen kara densha ya hikoki nado wa amari tsukaimasen.

Onna no hito wa, Tokyo ni nan de ikimasu ka.

ENGLISH
A man and a woman are talking. How is the woman going to Tokyo?

Man: Are (you) going to Tokyo for summer vacation?

Woman: Yes, [ am. (I) go back every time.

Man: Are (you) going by car?

Woman: No, I don’t use my car very much, so this time, (I) am going by bus.

Man: Why don't ride the train? (I) always go to Tokyo by train. Because it is fast and convenient.
Woman: That’s right. But, I don’t have money, so (I) don’t use the train or airplane very much.

How is the woman going to Tokyo?

The correct answer is #1- /\X .

The woman explains that she doesn’t use her car very much so we can guess that she isn’t a very
confident driver. After that she specifically says that this time, she will go by bus. So, answer 1 is the
best choice. The man says that he usually takes the train, but the question is about the woman. And
the woman also later explains that she doesn’t have money, so she usually doesn’t fly or take the train.

1 INR 2 TAL» 3 02H% 4 (%%
basu densha hikoki kuruma
bus train plane car



